1.

2.

B4 /H

PAPER-III
PHYSICAL EDUCATION

Signature and Name of Invigilator

(Signature)
(Name)
(Signature)
(Name)

3

Time : 2 %/, hours]

OMR Sheet No. :

Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 150

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 75

Instructions for the Candidates

wdenteat & oo e

1. Write your roll number in the space provided on the top of | 1. 39 g & S HId TH W AT I T=R fdAf@u |
this page. 2. T U0 H JEETR Sglohedid e ¥ |
2. This paper consists of seventy five multiple-choice type of | 3. trﬁgn TRAT g W, TeA-JRsT SMushl ¥ & SR | Uee
questions. o _ ure e It ueE- GioH T STH! e
3. At the commencement of examination, the question booklet St o T o SR, S IR 3T FEAT ©
will be given to you. In the first 5 minutes, you are requested (i) WW @aﬁ & foTT ST e UST OT oIt ShiTst
to open the booklet and compulsorily examine it as below : Al q;@' g} | g;ﬁ E—g a7 o ST ot
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept (ii) waw W w ﬁg—mq-gw : * g qer
a booklet without sticker-seal and do not accept an open T B S WE 9% T o 76 3 ™
booklet. gﬁwﬁ uRasr e Y
(i) Tally the number of pages and number of questions i}l Ao AR g T ggimiﬂ wag%m g
in the booklet with the information printed on the WER T HF T2 W g9 39
cover page. Fau_lty booklets c_iue to pages/questions T A W T mm e
missing or duplicate or not in serial order or any % fow st dte fee B R 1S9 T T
other discrepancy should be got replaced immediately A aE v ORaeET e @ SR S T @ et
by a correct booklet from the invigilator within the st wwa Frar e
period of 5 minutes. Afterwards, neither the Question < ; fecrer
Booklet will be replaced nor any extra time will be (111)1?{:{ ol a?{golMR T W T -
given. e S —
(iii) After this verification is over, the OMR Sheet Number 4 ™ E ?Waﬂ%%w & et ﬁ(é\:% éB%)T{éS{) %(%ﬁg
should be entered on this Test Booklet. b B ferm a7
4. Each item has four alternative responses marked (A), (B), (C) @ . . ®
and (D). You have to darken the circle as indicated below on (C). e |
the correct response against each item.
Example : @p g. 0) 5. = ST %A UY YRaaht & A=Y 7 T OMR REER L
where (C) is the correct response. &t aifepet e € | 3 3T OMR Wik WX 12 771 o7t o el
5. Your responses to the items are to be indicated in the OMR fepit a1 T W S Fereiiehet 7 €, Al SHeh! Hedisht
Sheet given inside the Booklet only. If you mark at any TR & | )
place other than in the circle in the OMR Sheet, it will notbhe | 6. 3<Y 3 ™ et Eﬁ
evaluated. 7. e %M (Rough Wor %ma gﬁ?—m €h' FH g WA |
6. Read instructions given inside carefully. 8. df¥ 3T OMR W% W M & AT IO A, A
7. Rough Work is to be done in the end of this booklet. TR, B Y T7 g o v foe e ekt vew a8
8. If you write your Name, Roll Number, Phone Number or put Th, e gen T STYET YT 9T 1 YA S %, T HIe
any mark on any part of the OMR Sheet, except for the space 3 SO WEE B WA R €, 99 & sifea T
allotted for the relevant entries, which may disclose your AT FI THSHT a7 9%E WRl § S5a T af 9eT & o
identity, or use abusive language or employ any other unfair I ity Y ST 9y §
means such as change of response by scratching or using [ ¢ aept Tder T B9 T T gl Td §eT OMR W5ieh
white fluid, you will render yourself liable to disqualification. e TRleT F ST EYEE § AT q’ﬁ&ﬂ T & &
9. You ha\(]e to ret#rn the }est questri]on bé)ol]fle;]t and Original 3T o W T Yo § 9T F 9FK 9 | EliE e
OMR Sheet to the invigilators at the end of the examination i W
compulsorily and must not carry it with you outside the :ﬁ:g% ™ OMR % #i T ST e e <
Examination Hall. You are, however, allowed to carry duplicate
copy of OMR Sheet on conclusion of examination. 10. aﬁ?g g??ﬁm Ll AE U7 A A g ﬁanﬁ'
10. Use only Blue/Black Ball point pen. 11. T T HTOTE A AT T
11. Use of any calculator or log table etc., is prohibited. AT Al ¥ | . C s
12. There is no negative marks for incorrect answers. 12. Wﬁﬁ%ﬁr{raﬁéw FHTHE
13. In case of any discrepancy in the English and Hindi versions, | 13. 3% SISt a1 fét feremor # i€ fergfet @, ot st fomor
English version will be taken as final. ST /AT SO |
D-47-13 P.T.O.



PHYSICAL EDUCATION
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

1.  The newly elected 1.0.C. President
Thomas Bach belongs to
(A) Germany (B) Kuwait
(C) Russia (D) Belgium

2. Select the correct choice :
Blood from the right ventricle of the
Heart is taken to the lungs for
purification by :
(A) Hepatic Artery
(B) Renal Artery
(C) Coronary Artery
(D) Pulmonary Artery

3. Knee extension is caused by a
number of muscles. Select the correct
option :

(A) Vastus internus, rectus femoris
and biceps femories

(B) Biceps femoris, rectus
abdominis, sartorius

(C) Vastus externus, rectus
femoris, vastus internus

(D) Rectus femoris, rectus

abdominis, biceps femoris

4. It has been alleged that economic
consideration and media role has
influenced the selection to host 2020
Summer Olympics at
(A) Madrid (B) Tokyo
(C) Istanbul (D) Barcelona

5. Which of the following criteria is not
required to recognize a profession ?
(A) The performance of a service to

the public.

(B) The collaboration with
National and International
organisations.

(C) The possession of a unique
body of scientific knowledge
and technical skill.

(D) The requirement of a highly
specialised and usually formal
preparation.
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10.

11.

Which one of the following is not a
technique of supervision ?

(A) Visitation (B) Get-together
(C) Conference (D Workshop

Physical exercises done with an aim
to develop muscle hypertrophy are
by nature.

(A) Isokinetic exercises

(B) Aerobic exercises

(C) Anaerobic exercises

(D) Isotonic exercises

A research proposal consists of :

(A) Introduciton, review of
literature and conclusion

(B) Review of literature,
methodology and
recommendation

(C) Introduction, review of
literature and methodology

(D) Methodology, conclusion and
recommendation

Harward step test was constructed in

1943 by
(A) Brouha (B) Mc Ardle
(C) Written (D) Kurucz

Legal disputes now occurring more
frequently in sports, require sound
legal sports management system to
resolve dispute. Which of the
following is not covered under legal
dispute ?

(A) Weather

(B) Eligibility

(C) Capricious decision

(D) Constitutional right

Degree of stability is directly

proportional to

(A) Height of Cg, Area of base and
weight of the body

(B) Area of base, weight of the
body and frictional force

(C) Weight of the body, frictional
force and height of Cg

(D) Frictional force, height of Cg
and weight of Cg

D-47-13
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12.

13.

14.

15.

16.

17.

A research problem should be

finalised considering

(A) Awvailability of data, relevance
and health  condition of
researcher

(B) Health condition of researcher,
relevance and ethical issues

(C) Relevance, ethical issues and
availability of data

(D) Ethical issues, availability of
data and health condition of
researcher

Which of the following Vitamins is
water soluble ?
(A) Vitamin A
(C) VitaminE

(B) Vitamin B
(D) Vitamin K

Stretching exercises influence some

of the motor fitness components

differently.  Select the correct

option —

(A) increase strength and flexibility

(B) increase flexibility but decrease
strength

(C) decrease both flexibility and
strength

(D) increase flexibility and agility

When the identifiability of individual
performance is lost in a team
performance, decrease in
performance seen due to diffusion of
responsibility indicates

(A) Team harmony

(B) Social loafing

(C) Team process

(D) Group success

The Society for National Institute of
Physical Education and Sports
(SNIPES) merged with  Sports
Authority of India in
(A) 1982
(C) 1985

(B) 1984
(D) 1987

High blood sugar level is controlled
by

(A) Glucose
(C) Insulin

(B) Thyroxin
(D) Adrenalin
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18.

19.

20.

21.

22.

Research process should be

(A) Controlled, planned and biased

(B) Planned and controlled

(C) Planned, biased and research
dependent

(D) Controlled and
dependent

research

Which of the following is not a test
of volleyball ?

(A) Miller Wall Volley Test

(B) Brady Volleyball Test

(C) Russell Lange Test

(D) French Cooper Volleyball Test

There are many somatotypes
proposed by different authors. Some
of such somatotypes are

l. Pyknic

Il.  Asthenic

I1l.  Phthisic habitus

IV. Athletic

V. Mesomorph

Among them somatotypes suggested
by Kretschmer are

(A) L Handlll (B)
(C) HI,IVandV (D)

I, Il and IV
IV, land Il

Several types of sums of squares are
used in calculation of an ANOVA.
They are :

l. Mean square

II.  Total sum of square

I11.  Within groups sum of square
IV. Between groups sum of square
Select the correct sequence of these
sums of squares from the code given
below :

Codes :

(A) LI and IV
(B) I, 1, 1Vandl
(C) NI, IV, land Il
(D) IV, I, Iland 1

Tactical abilities required to tackle
the specific sport task includes:

l. Variations of tactical skills

Il.  Special perception abilities

I11.  Creative tactical action

IV. Special intellectual abilities
Find the correct combination :

Codes :

(A) landll (B) MHland IV

(C) Iand Il (D) HandIV
D-47-13
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23.

24.

25.

26.

Diseases caused by smoking are
stated below. Arrange them in
sequential order from the codes given
below :

l. Smoker cough

Il.  Insomnia

I1l. High Blood Pressure

IV. Disturbance in vision

Codes :

(A 1I1mowv I
|) v I
< 1 m 1w I
D) 1 I 1 v

Which of the following are non-

professional careers under physical

education and sports ?

I.  Physical Education teacher of a
school

Il.  Physical Instructor of a health
club

I1l.  Sports reporter of a popular
media

IV. Sports coach of an educational
institution

Find out the correct combination

from the codes given below :

Codes :
(A 1,11 (B) 11,11
(C) I, IV (D) 1,1V

Conceptual framework for studying
coping strategies are :

l. Problem focussed

Il. Task focussed

I11. Emotion focussed

IV. Outcome focussed

Find the correct combination :

Codes :

(A) 1&Ill B) &Il

©C) NnN&iv D) &IV

Bones in human body are classified
on the basis of :

l. Size .
I1l. Structure V.
Select the correct answer :

Shape
Function

Codes :
A 1&Il B) H&ll
©C) HM&Iv (D) V&I
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27.

28.

29.

30.

Arrange the following columns of
five interlinked rings of the Olympic
flag :

l. Blue II. Red
I11.  Yellow IV. Black
V. Green

Codes :

A 11 im 1w Vv
@) I Iv V i1l
© 1 m v v Il
() I I AV | i v

Arrange the following types of sports
management in ascending order as
per their relative merit :

l. Electric Management

Il.  Democratic Management

I1l. Laissez Faire Management

IV. Authoritarian Management

Codes :

A 1 (11 \Y
B) 1 1 v I
(C) v | I
(D) IV 1l Il I

Benefits of Physical Exercises are :
l. Increased energy

Il.  Increased depression

I11. Decreased risk of heart attack
IV. Increased stress level

Find the correct combination :
Codes :

(A Ll |) L

< LIV (D) 1, 1Iv

Following are the components of
performance related fitness :

l. Speed

Il.  Explosive strength

1. Body composition

IV. Flexibility

V. Cardiovascular endurance

Find the correct combination of
health related fitness form the codes

given below :
Codes :

A) I, 1v, Vv
B) Vv, I, 1
Q) 1, I, v
D) n, v, |1

D-47-13
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31.

32.

33.

34.

Magnitude of training load depends
upon

I.  Type of exercise

Il.  Type of training cycle

I1l.  Load volume

IV. Time of training

Find the correct combination :

Codes :

(A) landll (B)
(C) landlll (D)

Iland IV
Il and 111

Select the correct option from the
code given below :

Synonymous terms of cardiovascular
endurance are

l. Cardio-respiratory endurance

Il.  Cardio-pulmonary endurance
I1l.  Aerobic endurance

IV. Speed endurance

V.  Strength endurance

Code :

(A) I, Hland IV
(B) I, 1l and Il
(C) I, Vandlll
(D) I, land V

The systematic process of sports
training involves the following :

I.  Evaluation

Il.  Feedback

I1l.  Execution of training

IV. Setting goal and objectives
Arrange in proper sequential phase :
Codes :

A v i

(B) IV Il I I

© 1 nowv o

(D) ol I v

Glucose in the form of Glycogen is
stored in

l. Muscles

Il. Pancreas

1. Liver

IV. Stomach

Select the correct answer :

Codes :

(A) landll (B) Iland HI
(C) landlIl (D) MHland IV
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35.

36.

37.

Given below are two statements, one
is Assertion (A) and the other is

Reason (Rz ;
Assertion(A) : Intramural
programme should be an

Integral part of the physical
education programme in the
institutions.

Reason (R) : Sports for all works as
a method of inculcating health,
fitness  and  wellness in
institutions.

In the context of the two statements

which one of the following is correct ?

Codes : _

(A) Both (A) and (R) are right and
(R) is the correct explanation of
the (A). )

(B) Both (A) and (R) are right, but
(R) is not the correct

explanation of (A).

EC% EA? Is wrong, but (R) is right.

D) (A)isright, but (R) is wrong.

Given below are two statements, one

labelled as Assertion (A) and the

other is Reason (R) : o

Assertion(A) : Physical education is
both an Art and a Science..

Reason (R) : Performance of
gymnastic activities has

_ aesthetic values.

Which one of the

statements is true ?

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and SR)
is the correct explanation of (A).

EC; EAg is true, but (R) is false.

D) (A)is false, but (R) is true.

following

Given below are two statements, one
labelled as Assertion(A) and the

other labelled as Reason (RE: _

Assertion A rgogenic
substances increase the sport
performance.

Reason SR) : Doping is harmful to
health.

In the context of two statements,
which one of the following
statements is correct ?

Codes : ) )

(A) Both (A) & (R? are right & SR) is
the correct explanation of (A).

(B) Both (A) & (R) are right, but (R%
is not the correct explanation o

A).
C) (A)isright, but (R) is wrong.
D) (A)iswrong, but (R) is right.
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(A) 1 Tl TLTFT E |

(B) (A) aﬁr(R)aﬁw% fope
(R), (A) T Hel T & € |

(C) (A) Tord &, fohg (R) Tl & |

(D) (A)aﬁ%ﬁﬁ(R)W%n

9 T gom e MU & | uH &b
aﬁw% (A) T T B FRIT (R) Fel
T |
fmem (A) : VRN e we o
Wwﬁﬁﬂaﬁr%

HFRUT (R RS fohamehedal |

T e 81t & |
freforitad § @S9 91 gedeT 92 € 2
E!g?.

(A) (A)W(R)ﬁﬂﬁ%w(m
(A) T TE TIEHT T & |

(B) (A) 3R (R) 31 @l € @ (R),
(A) T TE TEHT E |

(C) (A) Wl g, W= (R) T € |

(D) (A) Tord €, W= (R) Tl & |

e 37 T ST T E | U SR

(A\) T THL I HROT (R) el T & |

AfqHIT (A) : TTSHS UGS TA-
&1 § ey R € |

FHROT (R) : TEH-SUY T @ &
foTT BT epmes & |

SHF & g | Hefated § 9 a4

a1 foreheq el & 2

%< !

(A) (A)W(R)ﬁW%W(R),
(A) FT el T ¢ |

(B) (A)W(R)ﬁW%W(R)
(A) =T T&l TIEIHT T & |

(C) (A) W& & == (R) T ¢ |

(D) (A) 7o €, W= (R) W & |
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38.

39.

Given below are two statements, one
of which is labelled as Assertion (A)
and the other is labelled as Reason

(R):

Assertion  (A) Hand grip
dynamometer is used to
measure the arm power.

Reason (R) Dynamometer
measures strength.

In context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : State anxiety is an
immediate emotional
experience that is characterised
by apprehension, fear
and tension and sometimes
accompanied by physiological

arousal.

Reason (R) This state is
experienced because of
personality  disposition  to

perceive certain environmental
situations as stressful and to
respond to these situations with
increased state anxiety.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both are true, but (R) is not the
correct explanation of (A).

(B) Both are true, but (R) is the
correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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40.

41.

42.

Given below are two_statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :

Assertion  (A) :  Professional

reparation is necessary to
ecome efficient in  the
profession.

Reason (R) : Physical Education is
an integral part of education.

In context of the above two statements,

which one of the following is correct ?

Codes :

(A) Both (A)and (R) are true, but (R)
is not the correct explanation of

(A).
(B) Both (A) and (R) are true and SR)
is the correct explanation of (A).
Ecg EA; Is true, but (R) is false.
D) (A) is false, but (R) is true.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : For a natural free
fall, the bounce height of a ball
becomes lower than the height
of drop. .

Reason (R) : The collision of a ball
with ground in a natural free
fall 1s a perfectly elastic
collision.

In context of the above two statements,

which one of the following is correct ?

Codes :
(A) Both (A) and (R) are true, but (R)
is not the correct explanation of (A).
(B) Both (A) and (R} are true and (R)
is the correct explanation of (A).
EC% EA; is false, but (R) is true.
D) (A)is true, but (R) is false.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A% - Knowledge of
review of literature should be
referred for interpretation of
results of a study. _

Reason (R) : Review of literature
provides the knowledge base of
a research study.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is. not the correct
explanation of (A;._

C) (A)istrue, but (R) is false.

D) (A)is false, but (R) is true.
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38. F T 9" TG MW & | TH &

39.

MR (A) T TE T HROT (R) Fel

™Y |

AfHeT (A) : 9 H R AU &G
22 U9 SEAmHeT S 39T f
@Y |

HROT (R) : SEAMIHIT Afer 0T € |
S 3 godeal &% WeW H
fefefea & 9 &9 9 9Er g ?

C I

(A) M (A) 3R (R) Wl & @ (R),
(A) = TE AT E |

(B) I (A) 31X (R) Tord & |

(C) (A) W& g, T (R) ToId € |

(D) (A) Tora €, =g (R) eI & |

I I g R W E | TH W

MR (A) T T i HROT (R) Fel

TE |

At (A) : TEfdwe gFEdr
ATchIcish FoTes 3T & St
R, W qAA T FRI
Mt &t & e efi-aedt
IR TR0 | g &iell & |

FRUT (R) : U @@ H T
i & g % HROT THar
Sl I & v G i s S o
TR0 FIfdqat s FEHRT AT
forar <frar & @ eTcatus gREar
i T H ST 34 (e 9
SfehAT BT ST € |

SR AT et o T | et

YA T ?

ETE

(A) (A) T (R) = @ E W= (R),
(A) T TE TILHT TE ¢ |

(B) (A) T (R) IHT Wl € 31X (R),
(A) FT TET TEHT E |

(C) (A) Wl & == (R) T € |

(D) (A) o €, W (R) Tl & |
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40. = =1 %o KU T €, T SR (A)

41.

42.

AXTETHROT (R)

AHU (A) : AU H PEFRA T
% foTT FeaqTies dart STeawas ¢ |

FHROT (R) : INRke forem forem @
=T 3 E |

TET I B A=Y H Efated ® 9

I | HIT Tl & 2

Rv

(A) (A) 3R (R) & =&t €, 7 (R),
(A) =T TEl TSI T & |
B A ﬁ?yg)ﬁﬂﬁ?fﬁ(m,
(A) T T&t TEHT € |
(C) (A) T e, i (R) T & |
(D) (A) Tord ¢, o (R) W&l & |

I S g U T E | U ol S

(A) T T I HROT (R) el T E |

Atwwer (A) 3T U &
foT, 7% =l feor aReR 3T H
éwﬂlé%rdqld H AT T FH

|

HRT (R) :H@Tdebailﬁn%lmqqld ST
% W S H GUET T G
TTHEN THTE Bl & |

I S FEdeAT & HeW H e

H ¥ DIF G T E 2

HT
(A)

(A) T (R) 51 w1 €, 72 (R),

(A) FT Tl TLHT TG E |

(B) (A) 3X (R) AT WEl & 31X (R),
(A) FT TET TEHT § |

(C) (A) Tord &, W] (R) W&l € |

(D) (A) W&l g, W= (R) o € |

T g FeF U U, uew A

(A) T TR T HRT (R) T T2 |

AFTHAT (A) : TG 3T o ARV &
3 Toed = & Tow dew
3TFAFA o T 1 TR T A1 |

HRUT (R) : e STaetehT TN ST

% I YR TG A |

T AT F G H Al § 9 S

T TE E ?

% : ,

(A) (A) @ (R) sHi Wl € @R (R),
(B) (A) @ (R) , 53 (R),
(A) T el TETHT Fal & |
(C) (A) W& e, W= (R) T |
(D) (A) TTod &, W] (R) TEI & |
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43.

44,

45.

Given below are two statements ; one
is labelled as Assertion (Ae, and the
other is labelled as Reason (R) :

Assertion iA) : Mode, is the most

reliable measure of central
tendency. ]
Reason (R) The score in a

distribution that occurs with
greatest frequency is called
mode.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true, but (R)
is not the correct explanation of (A).
(B) Both (A) and (R) are true and SR)
Is the correct explanation of (A).
EC% EA; Is true but (R) is false.
D) (A)is false but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the
other as Reason (R) : _
Assertion (A) : Growth pattern is a
?radual continuous process and
ollows orderly  rhythmic
sequence :
Reason (R) : Rate and pattern of
growth can be modified by
_Internal and external factors.
Which one of the following
statements is true ?

Codes : _
(A) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
(B) Both (A) and (R) are true and SR)
is the correct explanation of (A).
ECE EA; is true, but (R) is false.
D) (A) is false, but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the
other as Reason (R) : . o
Assertion (A) : Physical education is
both a discipline and a
profession. )
Reason (R) : Physical education has
a unique body of knowledge
and needs highly specialised
and usually formal preparation
to render service to the
_ community.
Which one of the
statements is true ?

Codes :
(A) Both (A) and (R) are true and >R)

following

IS the correct explanation of (A).
(B) Both (A)and (R) are true, but (R)
I?A not the correct explanation of

Ecg §A§'is true, but (R) is false.
D) (A)is false, but (R) is true.
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46.

47.

48.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion (A) : When the improvement
of speed stops and it cannot be
further improved in spite of
continuing speed training, we call
itaspeed barrier.
Reason (R) : Speed barrier is not the
result of some sort of
automatisation of CNS
functions  controlling  and
regulating speed performance.
In the context of the above two
statements, which one of the
following is correct ?

Codes : )

(A) Both (A) and (R) are right, but
(R) is. not the correct
explanation of (A). _

(B) Both (A) and (R) are right and
R) is the correct exglanatlon of (A).

EC% Ag Is right, but (R) is wrong.

D) (A)iswrong, but (R) is right.

Given below are two statements, one

labelled as Assertion (A) and the

other as Reason (R) : _

Assertion (A) : Obesity and its
management should be known
to every citizen of India.

Reason (R) : Obesity is one of the
main causes of heart attack.

In the context of the above two

statements, which one of the
following is correct ?

Codes :

(A) Both (A) and (R) are true, and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of

A).
Ecg §A§ Is true, but (R) is false.
D) (A) is false, but (R) is true.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : For a squat jump one
oes down at first by flexing
ip, knee and ankle joints.

Reason (R) : Lowering of Cg

increases degree of stability.
In context of the above two

statements, which one of the
following is correct ?
Codes :

S:
(A) Both (A) and (R) are true, but (R)
is not the correct explanation of (AF%'
(B) Both (A) and (R} are true and (R)
is the correct explanation of (A).
C) (A)istrue, but (R) is false.
D) (A)is false, but (R) is true.
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43.

44,

45.

T g1 A QU T, U A AT
(A)H%{H%aﬁw(R)ww%l
afvme= (A) Wwﬁrww
afass TEAF & |
#HROT (R) - avﬁéo‘%awﬁsﬁw
Wms‘rsﬁ FEAE |
%W%Wﬁﬁwﬁ@rﬂqmaﬁ%’?
FH
(A) (A)W(R)ﬂﬁfﬂ?f%qﬁ(R),
(A) T TEl TR Tl ¢ |
(B) (A)W(R)ﬁﬂff%ﬁ@),
ASTm,
€ A W (R) T © |
(D) (A) 7o &, T (R) T & |

T 3w KT | uw @ e

(A) 3R TEL I HRT (R) T T E |

sfwmem (A) : gg H1 UfdaE HUeT
T =t ufshar & SR dretes Y
Y T & |

HROT (R) : %ﬁwmqﬁlﬂmaﬁ
3NN AT STeT Tl & giatad
Tl ST Hepe & |

frefofiaa & @ @i o1 %o T e ?

T

(A) (A) @ (R) 39T &l € W (R),
(A) 1 TEl ST TE & |

(B) (A) @ (R) =1 @l &, 3ﬂT(R)
(A) FT el TEHT T |

(C) (A)@%W(R)W%n

(D) (A) Toid €, W= (R) Wl ¢ |

T 3 T g @ | uw @

aﬁ;w(A)aﬁT@%aﬁw(R)w

TE

AfHYT (A) : IR e v fama
T U I S Y

HRUT (R) : Wﬂwm%waﬂw
TH I TUS ¥ U WEEE
TaT H % w3 3= fominw
Ul qAr SERe AR
AT Bl & |

Feferfad o @ =i |1 %o el & ?

T

(A) (A) T (R) I W& &, 7 (R),
A

(B) (A)W(R) == (R),
ATt

€ A W= (R) Tetd & |

(D) (A) Towd &, = (R) T & |
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46. T < weE Gu U E | uw SAfaeRm

47.

48.

A) qer FROT (R) el T E ;
o %%ﬁwﬁww

T 9 P AT FA € ?

BT .

(A) aﬁf(A)aﬁT(R)ﬂﬁ% 5 (R),
W;‘g%w(m

(B) (A)F"’JT(R)

A s (I
€) A (R) Ted & |
(D) (A) T &, foh] (R) W & |
T gt A T MU E, U e (A)
aﬁTwW(R)%
arfirpeE (A) - Waﬁrw%nm

% AR ° @i gReE TS #

SFEHRI B AT |
HROT (R) : %—v\wmw%w@

ﬁm%a@‘ﬁﬁmﬁlﬁaﬁﬁ
q i 91 HUF TRl ¢ |
%< :
(A) (A) Wg?)aﬁraﬁ%w (R),
) T
B) (A (R) RIS
(R), (A)Wﬂ%“rm@w#f%l
(C) (A)@%W(R)W%n
(D) (A) Td &, W< (R) W € |
:ﬁ%a‘raaam%qm%mao‘aﬁaﬁw
A) T SH % HROT (R) T TR
W(A) e S0 & oy =t
Teot P, T A T & aE
a%uﬁwq%ﬁqﬁm%l
FRUT (R) : W S % H7 a9 & ferd
T AT TR |
sq%qﬁqul%wﬁﬁﬁﬂﬁfaﬁﬁ
T EE ?

(A) (A) T (R) ST @l €, 13 (R),
(A) F1 Tl TR G E |

(B) (A)aaT(R)aﬁra%“r%aﬁT(R)
(A) T el TEHT ¢ |

(C) (A)@%W(R)W%n

(D) (A) Tord €, W= (R) Wl ¢ |
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49. Given below are two statements, one
of which is labelled as Assertion(A)
and the other is labelled as Reason
(R):

Assertion (A) : A number of factors
are necessary for a sports
organization to possess an
effective code of conduct.

Reason (R) : Code should not be
based on a few overriding
principles that can be used to
deal with ethical dilemmas
faced by members of the
organization.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of
(A).

(B) Both(A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is fasle, but (R) is true.

50. In each stride cycle of running the
following phases are involved after
foot plantation :

l. Backward support

Il. Forward support

I1l.  Flying

IV. Absorption

Arrange these phases in order of their
appearance using the code given
below :

Codes :

A 1veod i

B IV I 1

() T T 1 O | I\

D) m n v 1

51. Arrange the theoretical approaches of
personality as they were propagated
in chronological order :

I.  Trait theory

Il.  Psychodynamic theory
I11.  Cognitive theory
IV. Social learning theory
Codes :

A 1 1noua v
|) I I v 1
© m v o I
(D) Iv 1 I I
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52.

53.

54,

55.

Long term training process involves
the following plans :

I Meso-cycle plan

Il.  Micro-cycle plan

I11.  Conceptual plan

IV. Macro-cycle plan

Arrange the plants in proper
sequential order :

Codes :

A I 11 1 IV

B) IV Il I I

(C) ur v I I

(D) wm 1w I

Use the correct code given below :
Sequential route of deoxygenated
blood is :

l. Right Auricle

Il.  Lungs

I1l.  Right Ventricle
IV. Left Auricle

Codes :

(A) | I i AV
B I 1 1 IV
C© v i1
M) 1 1 1m v

Arrange the following in a sequential

order to identify the subject matter

of Psychology : )

I.  Psychology is the study of mind

Il. Psychology is the study of
human behaviour

I11. Psychology is the study of soul

IV. Psychology is the study of
consciousness

Codes :

(A) 1 | 1 v

B) Il | v |

Cc) I 1 I AV

D) IV | I i

Match List — | with List — Il and

select the correct answer from the
codes given below :

List—1 List— 11
I. Social contact 1. Karl
theory of play Groos
I. Catharsis Theory 2. Plato
of Play
I11.Self expression 3. Aristotle

Theory of Play
IV.Instinct Theory of 4. Bernard S.

Play Mason
Codes :

I | m 1w
(A) 2 3 4 1
B) 3 2 1 4
C) 4 1 2 3
D) 1 2 3 4
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49, = T wH w1 ® € T H
aﬁgm(A)aﬁTWﬁw(R)m
AFMHT (A) : TTESTier STRoT Hed
T % [ s Te Hed &
Rl Sl STAITHAT Bl & |
HRUT (R) : Gfear &l $5 39 T &
TR fagiar W IHiRd el
AT e e ST e &
& & G ST St Afdehdr
W Tgfaeret & fues & fou e
TG |

&<

(A) (A) @ (R) 5HI @&t & 3R (R),
(A) T TE TEHT E |

(B) (A) T (R) Sl W@ & == (R),
(A) T TE TILHT TET ¢ |

(C) (A) T &, W (R) Tod ¢ |

(D) (A) Tord €, W= (R) Tl & |

50. SIeTsh U W W@ & S8 EfeiEd
ST Bt € ;
| o9 Aef
. 3 a7eisd
. 3=
V.  STeHaTIehoT
T TS I 3T Hied B4 % hH H
ZERd HifT qer T {T T wie 9
TE IW T
T
A I IV 1
B IV I 1 1
@ 1 m 1o
@) 1 1 v ol

51. eAfIea & ffoirad Agifes SUFTAT
3k TR - IR & & Helshy §
eI HifST
. o faery
Il. QEwerEAmeS et
1. wifAtee frery
V. 9T Af frert
FeT
A I 1mv
B 1 1 IV 1l
@ m v ool
O IV Ul 1
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52.

53.

54,

55.

T FErg W TR
fr=fefad st |fEted € -
. -k ae

Il. HIESHI-Tsh STl

1. STYRUMHS AT

V. shl-Tsh IS

ST i o GHvad o
FH

A 1 1V

B IV Ul 1

@ nmiv 1

D) 1 1 v

fqeffeRisIa SR T T 2560 i
wME?
. 37 aREre (T 3HiReRe)

I1. m?JlT Feta (W8T dfcean)

V. St uRes (eive 3fiRer)
C TN

A 1 o1nm v
@ 1 1m 1w
@ v I 1o

D) I I mov

T T AR b avEee @
T2 Y Y H @y

I, FTeR Aish % S
[l. TGS AHe HeER o ST ¢ |
], FATCRI ST T ST € |

V. o Sead & g § |

A I 111V
@ u 1 v o
(o I 1 1 1 O T Y/
(D) IV | T
1 W G- & 9 it
ﬁqﬁﬁ%aﬁ@ﬁﬁ gﬁ&
l. @ﬁmﬁ%wﬁ 1. W!{H
AH =
Il. RT3 ™ 2. ©Ie
III@WWW 3. A

IVMWW@ 4. a=ﬁ‘é Tq.

LoV
A 2 3 4 1
B 3 2 1 4
Cc 4 1 2 3
o)y1 2 3 4
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56. Match List — | with List — Il and
select the correct answer from the
code given below :

List—1 List- 11
I. Femur 1. Longest
muscle
Il. Sartorius 2. Master gland
1. Liver 3. Longest bone
IV.Pituitary 4. Largest gland
gland
Codes :
I I " v
(A) 1 2 3 4
(B) 2 3 4 1
C) 4 2 1 3
(D) 3 1 4 2

57.  Which one of the following pairs is
not correctly matched ?

(A) An indepth — Case study
study of one or
more
individuals

(B) Study of cause — Survey
and effect method
relation

(C) Making — Observation
observation of method
behaviour

(D) Assessing — Correlation
degree of method
relationship
between two
variables

58. Which one of the following pair is
correctly matched ?

(A) Incentive — Martens,
Motivation Vealey &
Inventory Burton

(B) Group — Nideffer

Environment
Questionnaire
(C) Scale of Athletic — Chelladurai,

Priorities Inglis &
Danylchuk
(D) Hlinosis — Spielberger
Competition

Questionnaire
Paper-111
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59. Match List — | with List — Il and
select the correct option from the
codes given below :

List—1 List— 11
I. Test 1. Classification
assessment
I1. Measurement 2. Comparing
measurement
with objectives
[11.Evaluation 3. Any
instrument/tool
IV.Grading 4. Reading taken by
a test/tool
Codes :
I I " v
(A) 1 2 3 4
(B) 4 3 2 1
C) 3 4 2 1
(D) 4 3 1 2

60. Characteristics of Administration and
Management are given in List — | and

List — 11, match these characteristics
in the light of nature, scope, level and
skills of both :

List-1 List— 11
(Administration) (Management)
I. Thinking 1. Technical
I1. Board 2. Middle level

Policies
I11.Top level 3. Doing
function
IV.Conceptual 4. Implementation
Codes :
I ] " 1w
(A) 4 3 2 1
(B) 3 4 2 1
) 1 2 3 4
(D) 2 1 4 3

61. Which one of the following is not
correctly matched ?
(A) Martens - Sports

Competition

anxiety test

(B) Kenyon — Attitude toward
Physical
Activity
Inventory

(C) Peterson - Social

efficiency scale
(D) McCurdy - Leadership scale

Larsen
D-47-13



56. -1 1 G-Il F T GHT Do

T = T T e ¥ Wel S G
=it | = - 1
|, ®R 1. gag e Ul
. OReiiEg 2. T U
1.3 3. gad el sty
WA K ) 4. I8 I U
ETE
| v
A 1 2 3 4
B 2 3 4 1
(C) 4 2 1 3
D 3 1 4 2

57. FrAfciEd § | % A1 SiE Wl At
T E?

(A)TH IR R — A
AT D o)
TERTEYe 3T

(B) FRUT 3R T91G &% — T Tgid
Ty H 3T

(C) TR . CIE]
TR BT THId

D) oA F AT - FEdEy
o deu g a® Ul
[ERIEGRCTCI)

58. fTHTEd | & HiF T T GAAd ¢ ?
(A) $¥ifea wifedem — me, o

EECAY T T
(B) U wAfeRIHE - TR
FITTTIT
(C) Wt 3T — FT,
Tl URNEST et o
ERELC
(D) ST Hieivm — feetert
FATTA
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59.

60.

61.

A1 A G-I ¥ GAfAd 3R A

5 ™ e T T fawon g
=it | = - 1
. 2= 1. FfeRToT feRoT
Il A9 2. WO S qor SEvEl %
i AT

I, 9oai 3. HiE Al STHR/IH
|V, affeReor 4. SYeROT/E 5RT ol g A1
T

(=N

I | (TR,
A1 2 3 4
B 4 3 2 1
C 3 4 2 1
@) 4 3 1 2

G-I T G-I | IR TS yEET &
ATeTeToT XU &, 37 TR ol U,
foogeds, X q ST & IR W

GAfd I
=i | =t - 1
LHIER) (Freer)
I o= 1. dTR
[I. S€ & FSFE - 2. 7 &R
11359 ©RF % 3. HE AT
\WA-Eiitca 4, e T
&
| - m v
(A 4 3 2 1
B) 3 4 2 1
Cc 1 2 3 4
D) 2 1 4 3
frfefa & ® a1 Tet dX W gaferd
TEl & ?
(A) T — T wWE e
LRita)
(B) HdH - INR® TR &
wiq A dferent

(C)Uexes - g
FIIFIA TheT
— Sgc AU A

(D) BTt
TRET
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62.

63.

64.

Match List — I with List — Il and
select the correct option from the
codes given below :

List—1 List—11
|. Fattyacid 1. Fat
I1. Amino-acid 2. Protein

I11.Glucose 3. Carbohydrate
IV.Minerals 4, Salt
Codes :
I I i v
A 1 2 3 4
(B) 3 2 1 4
(C) 4 2 1 3
(D) 2 1 3 4
Match List — | with List — Il and

select the correct answer from the
codes given below :

List—1 List— 11
I. Behavioural 1. Intuitive
Science thought
I1. Budget 2. General
preparation education
background
[11. The abilityto 3. Technical
get along with knowledge
others
IV.Hunch 4. Good human
relation
Codes :
I I " v
(A) 2 3 4 1
(B) 1 2 3 4
(C) 2 4 3 1
(D) 3 4 1 2

Match List — I with List — Il and find
the correct option using the codes
given below :
List-1 List— 11
I. Speedplay 1. Cardio-
respiratory

endurance
I. Aerobics 2. Strength
I11. Muscle 3. Reaction

Cross ability

section
IV.Sensory 4. Fartlek

method
Codes :

I | " v
(A 3 4 2 1
(B) 4 1 2 3
C) 1 2 3 4
(D) 2 3 4 1

Paper-111

18

65.

66.

67.

Match List — I with List — Il and
select the correct option from the
codes given below :

List—1 List— 11
I. Mass x velocity 1.Centrifugal
(mv) force

Il. Mass x acceleration 2. Weight

m
I1l.Mass x acceleration 3. Force
due to gravity (mg)

IV.Mass x (angular 4. Mometum
velocity)? x radjus
of rotation (Mw?r)

Codes :
I I i v

(A) 4 3 2 1

B) 3 2 1 4

(C) 2 1 4 3

(D) 1 4 3 2

Match List — I with List — Il and

select the correct option using the
codes given below :
List—1
I. Carron’s
Situational
Theory
I1. Phenomenological
Theories
I11. Catastrophe
Theories
IV.Social Learning
Theories

List - 11
1. Personality
2. Emotion
3. Aggression
4. Leadership

Match List — | with List — Il and
select the correct answer from the
code given below :

List -1 List - 11
I. Deltoid 1. Shoulder
Il. Gastrocnemius 2. Calf
I11. Hamstrings 3. Back of
the thigh
IV.Pectoralis 4. Chest
Codes :
I I i v
(A) 3 2 4 1
(B) 2 1 3 4
C) 1 2 3 4
(D) 4 3 2 1
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62. LI & G-Il F T GAfT BT
AN 9 fGT T wie % AUR 9 we
foshea T

=i | =i -
|. %3 ufgs 1. %e
1. 3T+ UfES 2. WA
1. 7RISt 3. FEERged
\VALELS:] 4, T ()
H

| | " v
A1 2 3 4
(B) 3 2 1 4
© 4 2 1 3
D2 1 3 4

63. gdI-1 & gA-Il & 91T HifeTT
wﬁ%ﬁqwaﬁ@aﬁmﬁaﬁ
I :

=it | =it - 1
|. FRRWE 1. I
[EKIG] IEEIES
. S5 Fmior 2. 9me TR
.3 Al o6 3. dherehl I
Y AT
i T
VA LTS 4, 39 HHS ey
H
| n v
(A) 2 3 4 1
B 1 2 3 4
© 2 4 3 1
(D) 3 4 )

64. ﬁiﬁgﬁ% a%ﬁqa;ﬁ-n éo‘@a;% oo ﬂﬁ?@
qen T e IEE :
- | = - 11
| e 1. it -

e e
1. TOfaesT 2. wfed
N7 e 3. WO ewan
TR
IV.aqd fafs 4. wees
E T
| | " v
(A) 3 4 |
B 4 1 2 3
© 1 2 3 4
D 2 3 4 1
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65.

66.

67.

Tell-1 I AL F G GATeT BT
T e ST T e § WEl I G

= | = -
| ST x o (my) 1. SRSl 9
1. 5=a e x @Ror (mf) 2. 9T

1. 5599 x TToeamspdor - 3. sl

% HRIT ©ROT (MQ)

|V.5e50M x (Hiot 4. Fa
a'lT)Zx‘EL[U']T-T‘ebDf
= (mo?r)

FT
I I i v

A 4 3 2 1

B 3 2 1 4

Cc 2 1 4 3

D1 4 3 2

gl & G-Il % @ gaferd Hifse

T A ST T e F el I G

=i | = - 1

l. A o fggquemer 1, Ao
forart

1. SATHACATSTeReT 2. Ham
IEEE]

1. STl T3St 3. 3HHT

V. Fieret S oSt 4. g

| v
A 4 1 2 3
B) 2 3 1 4
(C) 3 2 4 1
(D) 1 4 3 2
A1 H GAL-I F [ GAfAd HifSw
TT A ST T e | W I AT
- | =t - 1
l. IRES 1. TEhY ()
II. it 2. et
1. gafgrs 3.3% (SEm @
LEGIREI]
|V, STust 4. =&
FHT:
| v
(A 3 2 4 1
B) 2 1 3 4
c 1 2 3 4
(D) 4 3 2 1
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68. Match List — I with List — Il and
select the correct answer from the
codes given below :

List-1 List— 11
I. Communi- 1. Accountability
cation for any major or
minor action
I1. Action 2. Ability to face a
oriented situation of
challenge
1. Self 3. Skill to take
confidence prompt decision
IV.Respon- 4. Transmission of
sibility material from
sender to receiver
Codes :
I I (1] . AV
A 1 2 3 4
(B) 4 2 1 3
(C) 4 1 3 2
(D) 4 3 2 1

69. Match List — I with List — 1l and
select the correct option using the
code given below :

List - 1 List—11

I. Personal Barriers 1. Distance
I. Physical Barriers 2. Bias
I11. Status Barriers 3. Under-
standing
IV.Emotional 4. Relation-
Barriers ship
Codes :
I I 11\
(A) 2 1 4 3
(B) 1 2 3 4
(C) 3 4 1 2
(D) 4 3 2 1
70. Match List — I with List — Il and

select t_he correct answer from the
codes given below :

List -1 List - 11
I. Submission 1. Amusement
Il. Self 2. Tender
assertion emotion
[11. Laughter 3. Humility
IV.Parental 4. Feeling of
superiority
Codes :
I I i v
A 1 2 3 4
(B) 1 3 4 2
(C) 4 2 1 3
(D) 3 4 1 2
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Read the passage and answer the questions
that follow based on your understanding of
the passage :

As the discipline of physical
education continues to grow, many
professionals are becoming dissatisfied
with the term being used to represent the
discipline : Physical Education. In the last
50 years, physical education’s professional
emphasis on teacher preparation has
changed. Whereas teacher preparation was
once the primary focus, it is now only one
of many professional programs within the
discipline. It has become increasingly
diversified with the emergence of the
exercise and sports sciences, which has led
to many new professional programs such
as cardiac rehabilitation, adult fitness, sport
management, sport medicine and sport
communication. Many professionals feel
that the term physical education does not
accurately describe the current nature of
the field and a new term is needed.

Today, practitioners in the schools
continued to be referred as physical
educators. However, professionals working
with other populations and in other settings
have adopted different terms to represent
the specialized nature of their work. These
professionals are referred as athletic
trainers, sport medicine specialists, adapted
physical educators, exercise physiologists
sport psychologists, sport sociologists,
fitness trainers, sport specialist, recreation
leaders etc. Many terms have been
suggested to replace physical education.
Instead of using physical education as
umbrella term, physical education term
would embrace professionals teaching the
subject in the school at all levels.

The American Academy of Physical
Education endorsed Kinesiology as the
new umbrella term for the field.
Kinesiology, defined as the art and science
of human movement, was believed to
reflect the true focus of study. Other terms
that frequently have been suggested as a
name for the discipline are sport Sciences
and Exercise and sport sciences.
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68. a;ﬁla%afﬁnéo‘wgﬁ%mﬁ?w

1 A €T T P H Hel I T
= - | = - 11
| =R 1. e T s
FE & T
IEET B
I, &~ 2. A o ferfa
T AT FH
I AT
1], ecAfaard 3. qa Mo o= &
HITTA
IV.3REEE 4. U9% ¥ 9% %
HIHUT 1 UG
He
| | " v
(A) 1 2 3 4
B 4 2 1 3
© 4 1 3 2
) 4 3 2 1
69. aﬁlaﬁiﬁﬁnﬁ:ﬁﬁwwaﬁgﬁ
@‘Eﬁ Tt -
I 1i
|. AT Ty 1. 3R
1. IR ey 2.

1. 2Fqad Gedt ee)iy 3. HHeRR

V. 91EATcH S 3Tad 4, &Y
ey
E T
I I im 1
A 2 1 4 3
B) 1 2 3 4
(C) 3 4 1 2
M) 4 3 2 1
70. -1 @ G-Il F T GAfT BT
ﬁ?ﬁ%ﬁwaﬁ@wmaﬂ%aﬁ
=i | —1
| eTeAMeRd 1. TR
Il &I Fe 2, et FaT
1. &5 3. T
\WA:GED 4. 3= 99 FH Y
FE
I I m 1w
A1 2 3 4
B 1 3 4 2
© 4 2 1 3
(D) 3 4 1 2
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9 fSU T TR @ ufeu qer S9 TRST h
3T A & 3MUR W 3HF 915 9T T Y97
% I I |

IR forem Tommeman ¥ g g & o
IR e & 3 g 39 fommemar
UM WA O IR YIRS T @
AT B S W & | ot AR & W
FEEES 9 fU S & IR fen &
foar & fuset 50 aut | sEAT I € | F|i
9187 9 A W U 9T VRN RTeT
T HIHT o, 37T I8 30 [oamemar & 3%
HEHA § § halol Ush HEhH & | AN aor
T foRTH o TR % Y I8 [T AT
fafaggamel a7 mr ¥ R #Ro e
AT HEHH TEA 3 §, 9 g5-Jamg,
AR | 3 g I8 Fegd & ol § (6
YRR 78T o5 o9 faug-eF & aa9m wHha
N FIF U Tel AT a0l 8 [ T 79
TS S TR & |

formerat & 5 fawg 1 39 <9 At o
I ST TR 91878 i T H Garoa A
ST € | qenfa M T 9T aen e wideer §
T HA Gl Jreepl = 4T AW ST feAr €
S Wl ofuty favie, STHied WG
TreTen, =A™ IRRIHATERTAT, Tl THSTRINE,
e ulvets, o favivw, RipueE ofiet
TS | VIR f¥1el & ®H W 3% U8 T
T T € | OIRIRS 98T Ug o7 Ueh 3iiell 2H
(U TUEIEE) B T T ST HA B
T 3T IS HT YA {o=merd W 39 favg @
T w W fEEE o @i % e e
THMT BT |

3TN TaheH! 31T fhRfSTeheT Tsphe™ =
34 fau & & o0 SgAfaaiers i 7T 95 &
w9 H AT foRar € | v forvary TR S
T & ‘wrafggesr - &9 qme g9 &
el T foRte” & &9 | gfeniud foar man ¢ -
T AT &F & (e hihd i Uiarsrsd
FAN | 39 foaw &7 & forw agen we fom
wd foie 9 we fame S| 9 off ge
ST |
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Regardless of which term is selected
as a name for the discipline, it is important
that all professionals realize their
responsibility to contribute to the field.
Professionals must help physical education
establish its identity, its jurisdiction and its
leadership. Whether the discipline will
continue to grow and realize its potential to
enhance the health and well-being of
individuals of all ages will depend a great
deal on the commitment of professionals to
this goal.

71. Select the correct option:

Among many professional programs

of Physical Education, the primary

focus is still on

(A) High performance sport in
educational institutions

(B) Intramural and extramural
program

(C) Fixtures for all

(D) Teacher education

72. American Academy of Physical
Education has accepted to change the
term Physical Education to
(A) Exercise and sport sciences
(B) Physical activity and sport

sciences
(C) Kinesiology
(D) Sport and exercise sciences

73. For the upliftment of the profession
of Physical education, professionals
must help
I.  to provide good leadership
Il.  to decide its jurisdiction
IIl. to have uniform teacher’s

training program
IV. to identify areas under the field
Find the correct combination :

Codes :

(A 1o |

@) I 1 v
C ) m 1 v
(D) 1V 1 [

74.

75.
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Match List — | with List — Il and
select the correct answer from the
code given below :

List—1 List—11
I. Adapted 1. Geriatric
physical population
education
Il. Sport 2. High
sociologist performance
sport
I11.Sport 3. Special
specialist population
IV.Exercise 4. Developing
physiologist group
dynamics
Codes :
I I "
(A) 1 2 3 4
(B) 2 1 4 3
©) 3 4 2 1
(D) 4 3 1 2

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion (A) An appropriate
nomenclature has to be given to
physical education to ascertain
the current nature of the field.

Reason (R) : The profession of
Physical Education IS
constantly  expanding  and
diversifying.

Which one of the

statement is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (R)istrue, but (A) is false.

following
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g fommemEn & fow feg 9 @1 @
T ST 30 g2 W B ot T, 7@ o T
Tewaqul € o it giaer 31 faw & o ae=
FA I ITWENIE B TEgd L | T
formar =t veae, sHe Hr-SAfelT qur Sged H
TYd A o foIw giae & IR forem =
TEE AT AMeT | A foramsmar agdt st 4t
Tl qEA Wl oY & Afdl % @WeF e
TG § FaHT I Sl ST &7 Bl T H
T A7 & — g gideRl w39 o H U
R I Uiqegar IY 31ty f9T S |

71. @& Ty g :
IR {9187 o ek kAT § wfees
wIHT hg W 2
(A) e TEIET H 3T WS et
A

(B) SITRRET T UHEZTREA HTishy
(C) =t % feTu gt
(D) ToreTh-feTet

72. SERHT TheH! 31 [hISTheT TSh =
‘TRl TR U8 &l 9 U8 9
AT T Fefa 2
(A) TIETHRES UUS TS WEES
(B) TRiTohat TRt UUE TiE |IEEST
(C) =rEAtgaes
(D) ¥ IS THATHISST HIEES

73. IRINE T aEE % 3AE & fon
giaet R FH=fefad o & -5 9
TEIAT UE i AT =T 2
l. W A9 U & |
Il e Foifd e |
. wHeq fwe  ufveor s

SYAT |
V. fqug-e & 3idia o et fawa
= TG HET |

%< .

A I 1
B I 1 IV
C m 1 v
D) IV 1l 1l

74, gALD B GA-I F T GAlAT T

T e T T F H Fel I T
=i | =t - 1
l. 3P 1. ggreren

IR eSS

1. @t 2. 3= USRI el
HATSTOTET T

I.€ foRe 3. ToRiy seeen

V.M SRR 4, 998 HIGED)
[EZICHIE] Tareptae e

FHT:
| v

A 1 2 3 4

B) 2 1 4 3

(C) 3 4 2 1

D) 4 3 1 2

75. A9 I Tded U M T | TH W
MR (A) T TE T HROT (R) Fel
TTE |
FAHHUT (A) © 39 foR-ET H AT
uRfetd ® gHed = & fou
YRING e w1 Tw 3w
ATHHTOT FHIAT BT |

HROT (R) : WRINE forem sa@m FieR
ToraiRa uet AfererqoT e ST w1 ¥ |

frefefad & & i o1 o W e ?

&<

(A) (A) T (R) 3T W&l & 71 (R),
(A) T TE TEHT E |

(B) (A) @ (R) Ml el &, =] (R),
(A) T el TETHT Fal & |

(C) (A) W& e, == (R) T ¢ |

(D) (R) W&l &, W] (A) Toid ¢ |
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